Opened:	August 26, 2019		1				
For:	Annual Contract for Business Cards & Wide Format Printing						
	Services		Local	1-	T	Ia	Local
			Lopez Printing	Cenveo Corporation	Rapture Graphics dba Cold Fire Signs	Sign It Right, LLC	TL Abbott Investments LLC dba Alphagraphics US 770
6100011712			427 Lombrano	200 First Stamford PI		909 NE Loop 410 #107	2714 West Ave
Category	Description	Estimated Annual	San Antonio, TX 78207 210-732-3232	Stamford, CT 06902		San Antonio, TX 78209	San Antonio, TX 78201
A	BUSINESS CARDS						
	*All business card measurements are standard 2" X 3.5".						
1	Description: 110# Cover, Classic Crest Bright White (or approved equal), Print 4/4 flat ink, without bleeds.			NAS	NAS	NAS	
1	250 cards/box Unit price Extended Price (Unit price x quantity)	50	\$17.24 \$862.00	II .		\$33.24 \$1,662.00	
2	500 cards/box Unit price Extended Price (Unit price x quantity)	80	\$19.69 \$1,575.20	II		\$34.16 \$2,732.80	· ·
3	1000 cards/box Unit price Extended Price (Unit price x quantity)	10	\$28.90 \$289.00			\$37.14 \$371.40	
2	Description: 110# Cover, Classic Crest Bright White (or approved equal), Print 4/0 flat ink, without bleeds. (simplex)						
4	250 cards/box Unit price Extended Price (Unit price x quantity)	800	\$14.74 \$11,792.00	II .		\$32.74 \$26,192.00	
5	500 cards/box Unit price Extended Price (Unit price x quantity)	400	\$17.69 \$7,076.00	11		\$33.51 \$13,404.00	
6	1000 cards/box Unit price Extended Price (Unit price x quantity)	10	\$24.90 \$249.00			\$36.97 \$369.70	·

Opened:	August 26, 2019]				
For:	Annual Contract for Business Cards & Wide Format Printing						
	Services		Local				Local
			Lopez Printing	Cenveo Corporation	Rapture Graphics dba Cold Fire Signs	Sign It Right, LLC	TL Abbott Investments LLC dba Alphagraphics US 770
6100011712		НН	427 Lombrano	200 First Stamford PI	12663 Silicon Drive	909 NE Loop 410 #107	2714 West Ave
Category	Description		San Antonio, TX 78207 210-732-3232	Stamford, CT 06902	San Antonio, TX 78249	San Antonio, TX 78209	San Antonio, TX 78201
3	Description: 110# Cover, Classic Crest Bright White (or approved equal), Print 4/4 flat ink, full bleeds.						
7	250 cards/box Unit price Extended Price (Unit price x quantity)	25	\$17.24 \$431.00	II .		\$33.24 \$831.00	I I
8	500 cards/box Unit price Extended Price (Unit price x quantity)	25	\$19.69 \$492.25	11		\$34.16 \$854.00	-
9	1000 cards/box Unit price Extended Price (Unit price x quantity)	10	\$28.90 \$289.00	II .		\$37.14 \$371.40	
4	Description: 110# Cover, Classic Crest Bright White (or approved equal), Print 4/0 flat ink, full bleeds.						
10	250 cards/box Unit price Extended Price (Unit price x quantity)	25	\$14.74 \$368.50			\$32.74 \$818.50	-
11	500 cards/box Unit price Extended Price (Unit price x quantity)	25	\$17.69 \$442.25	11		\$33.51 \$837.75	
12	1000 cards/box Unit price Extended Price (Unit price x quantity)	10	\$24.90 \$249.00	II .		\$36.97 \$369.70	I I
5	Description: 16-Point Coated Cover Stock, full color flat ink, front with full bleeds, full color flat ink, full bleeds back, with satin lamination (duplex)						
13	250 cards/box Unit price Extended Price (Unit price x quantity)	50	\$49.00 \$2,450.00	II .		\$27.00 \$1,350.00	

Opened:	August 26, 2019]				
For:	Annual Contract for Business Cards & Wide Format Printing						
	Services		Local	Τ	T= .	la	Local
				Cenveo Corporation	Rapture Graphics dba Cold Fire Signs	Sign It Right, LLC	TL Abbott Investments LLC dba Alphagraphics US 770
				200 First		909 NE Loop 410	2714 West Ave
6100011712	T	HH Estimated	+	Stamford PI Stamford,	Drive San Antonio,	#107 San Antonio,	San Antonio,
Category	Description	Annual		CT 06902	TX 78249	TX 78209	TX 78201
14	500 cards/box Unit price Extended Price (Unit price x quantity)	50	\$54.00 \$2,700.00	· ·		\$32.00 \$1,600.00	· ·
15	1000 cards/box Unit price Extended Price (Unit price x quantity)	5	\$69.00 \$345.00	· ·		\$39.00 \$195.00	· ·
6	Description: 110# Cover, Classic Crest Bright White (or approved equal),Overprint, 1/0, 4 up card shells provided, without bleeds						
16	250 cards/box Unit price Extended Price (Unit price x quantity)	20	\$8.89 \$177.80	\$48.82 \$976.40		\$15.63 \$312.60	
17	500 cards/box Unit price Extended Price (Unit price x quantity)	20	\$12.34 \$246.80	\$55.59 \$1,111.80	•	\$17.79 \$355.80	•
18	1000 cards/box Unit price Extended Price (Unit price x quantity)	10	\$14.89 \$148.90			\$18.79 \$187.90	
7	Description: 110# Cover, Classic Crest Bright White (or approved equal), Overprint, 4 up card shells provided, Print 1/1 flat ink, without bleeds						
19	250 cards/box Unit price Extended Price (Unit price x quantity)	20	\$12.34 \$246.80			\$15.63 \$312.60	· ·

Opened:	August 26, 2019		1				
For:	Annual Contract for Business Cards & Wide Format Printing						
	Services		Local				Local
			Lopez Printing	Cenveo	Rapture	Sign It Right, LLC	TL Abbott
				1 '	Graphics dba		Investments LLC
					Cold Fire Signs		dba
							Alphagraphics US
							770
			427 Lombrano	200 First		909 NE Loop 410	2714 West Ave
6100011712	T	HH			Drive	#107	
	Description		San Antonio,	Stamford,	San Antonio,	San Antonio,	San Antonio,
Cotomomy	Description	Annual	TX 78207 210-732-3232	CT 06902	TX 78249	TX 78209	TX 78201
Category		Quantity	210-732-3232	1			
20	500 cards/box	4.0	04400	00044		0.47.70	Φ0400
	Unit price	10	\$14.89			\$17.79	
	Extended Price (Unit price x quantity)		\$148.90	\$691.40		\$177.90	\$240.00
21	1000 cards/box						
	Unit price	10	\$17.89	\$86.07		\$18.79	\$29.00
	Extended Price (Unit price x quantity)		\$178.90			\$187.90	
	Subtotal, Category A		\$30,758.30	\$48,797.65	\$0.00	\$53,493.95	\$43,265.00
	Prompt Payment Discount		\$615.17			\$0.00	· ·
	Net Total with Discount Applied		\$30,143.13	\$48,797.65		\$53,493.95	\$43,265.00
	 WIDE FORMAT						
В	VIDE FORMAT * Deleted						
	Deleted						
	Prompt Payment Discount		2%, 10 days				Net 30
	Estimated Annual Total		\$30,143.13		\$0.00	\$53,493.95	\$43,265.00
	Estimated Annual Award		\$30,143.13				

^{*} Category B was deleted and will be re-bid at a later time NAS - Respondent is not SBEDA eligible